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QUESTION 1

From a Bash shell, which of the following commands directly executes the instruction from the file
/usr/local/bin/runme.sh without starting a subshell? (Please select TWO answers.) 

A. source /usr/local/bin/runme.sh 

B. . /usr/local/bin/runme.sh 

C. /bin/bash /usr/local/bin/runme.sh 

D. /usr/local/bin/runme.sh 

E. run /usr/local/bin/runme.sh 

Correct Answer: AB 

 

QUESTION 2

Which of the following commands prints a list of available package updates when using RPM-based package
management? 

A. dpkg list 

B. yum list 

C. dpkg check-update 

D. yum check-update 

E. yum list-update 

Correct Answer: D 

 

QUESTION 3

Which of the following statements describes a difference between GNU GRUB Legacy and GRUB 2? 

A. GRUB 2 no longer requires a configuration file. 

B. Partition numbers start at 0 in GRUB Legacy and 1 in GRUB 2. 

C. grub-mkconfig only works with GRUB Legacy if the --version 1 option is used. 

D. The configuration file menu.lst (and grub.conf) have been replaced with grub.config. 

Correct Answer: B 

 

QUESTION 4
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SIMULATION 

Which command is used in a Linux environment to create a new directory? (Specify ONLY the command without any
path or parameters.) 

Correct Answer: mkdir -or- /usr/bin/mkdir 

 

 

QUESTION 5

Creating a hard link to an ordinary file returns an error. What could be the reason for this? 

A. The source file is hidden. 

B. The source file is read-only. 

C. The source file is a shell script. 

D. The source file is already a hard link. 

E. The source and the target are on different filesystems. 

Correct Answer: E 
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